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Tén: Ngay thang: Diém:
12(3 3—1)*4><3—1— 25(1—4 ) +5x5+3,1=
T2 2 3 7 ’

3 3
§><15+5+3(2,4—5,3)= 2’6+2(4’2_Z):
1 3 1 1

2,7x15+5-2(5,1—-)= - )x54==
T G179 (3730973

1 3 3 3
2,8+ =)x3+-= =x16+4-5(=—2,6)=

3 1
15(5,1+Z)+3><3+5,1= (2,8—§)><3—3,6=

www.snowmath.com


https://www.snowmath.com

bbn phan s6, s6 thap phan, thi tu cac phép toan co

dau ngodc
Tén: Ngay thang: Diém:
1 1 247 7 1 3257 17
12 —=)F4x3——-=— =24— 25(=—4,8)+5x5+3, 1 =(———)=(—108—
(3.3-5)+4x3- 5= =2 5(348) 5% 5+3,1= (- =) = (-10855)

3 69 9 3 19
Zx15+5+3(2,4-53)=(-—)=(6—) 2,6+24,2-2)=—=9

| 8 3 3 1 I 3

2,7%x15+5-2(51—-~)=(—=)=(-1= 2 )x5+-="C

1 3 21 1 3 3
2,8+ -)x3+==""=10= Zx16+4-5=-2,6)=1
(2,8 2)><3 s~ 3 02 2>< 6 5(5 ,6)=16

3 1857 17 1 19 4
155,1+2)+3%x3+51=—"=9—  (2,8—2)x3-3,6=— =3
5(5, 4) 3x3+5, 0 920 (2,8 3)><3 3,6 5 35
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